e B S o e e
AR 007 (FET BT )
BT TR
A% IS S s
HiI % TR
= ) RS
SIS | TRBR | BERARS | e
HEAE XI5 L 7.751
fens | s coomm | mw | ST |
£ (%) wae | P | PR
(%) (%)
10 195 =% 4.70073 18.218 18.218
9 185 =% <195 3.33010 12.906 12.906
8 175 =% <185 3.20583 12.424 12.424
7 165=x <175 3.08155 11.943 11.943
6 155 =% <165 2.95728 11.461 11.461
5 145 =% <155 2.83301 10.979 10.979
4 135=x% <145 2.70874 10.498 10.498
3 125 =% <135 2.58447 10.016 10.016
2 115=% <125 2.46019 9.534 9.534
1 105=x <115 2.33592 9.053 9.053
0 95 =% <105 2.21165 8.571 8.571
-1 85 =% <95 2.08738 8.090 8.090
—2 75 =% <85 1.96311 7.608 7.608
-3 65 =* <75 1.83883 7.126 7.126
—4 55 =% <65 1.71456 6.645 6.645
-5 45 =% <5bh 1.59029 6.163 6.163
—6 35=x <45 1.46602 5.682 5.682
=7 25 =% <35 1.34175 5.200 5.200
—8 15=% <25 1.21748 4.718 4.718
-9 b= <15 1.09320 4.237 4.237
-10 0=%* <bh 1.00000 3.875 3.875
P B2
0.50000{ 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
HE%A, EE TS L AE
R T
= \ TR
SIS | TRBR | BERARS | e
I EISSE 1A 0.069
fens | s coomm | mw | ST |
B (%) g | Mot | P
(%) (%)
10 195=+% 4.70073 0.162 0.162
9 185 =% <195 3.33010 0.115 0.115
8 175=%* <185 3.20583 0.111 0.111
7 165 =% <175 3.08155 0.106 0.106
6 155 =%* <165 2.95728 0.102 0.102
5 145 =% <155 2.83301 0.098 0.098
4 135=%* <145 2.70874 0.093 0.093
3 125 =% <135 2.58447 0.089 0.089
2 115=%* <125 2.46019 0.085 0.085
1 105 =% <115 2.33592 0.081 0.081
0 95 =% <105 2.21165 0.076 0.076
-1 85 =% <95 2.08738 0.072 0.072
—2 T5=%* <85 1.96311 0.068 0.068
-3 6o = <75 1.83883 0.063 0.063
—4 b5 =%* <65 1.71456 0.059 0.059
-5 45=%* <55 1.59029 0.055 0.055
—6 35==x <45 1.46602 0.051 0.051
7 25 =% <35 1.34175 0.046 0.046
-8 15=x% <25 1.21748 0.042 0.042
-9 b=%* <15 1.09320 0.038 0.038
-10 0=*% <5 1.00000 0.034 0.034
R BEET
0.50000{ 2.00000




R B 4 A R S
WasE S 007 (B T Be JF 22 355)
TR, T
WO, TEE LA
R, SRS
- ) EETREYS
SHEKs | AR | SRy @%;@@
PEALE | JEHZ 50 7187
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.70073 16.892 16.892
9 185==x <195 3.33010 11.967 11.967
8 175=% <185 3.20583 11.520 11.520
7 165 =% <175 3.08155 11.074 11.074
§) 155 =% <165 2.95728 10.627 10.627
5 145=x <155 2.83301 10.180 10.180
4 135=x% <145 2.70874 9.734 9.734
3 125=x% <135 2.58447 9.287 9.287
2 115=x <125 2.46019 8.841 8.841
1 105 =% <115 2.33592 8.394 8.394
0 95 <x% <105 2.21165 7.948 7.948
-1 85 =x% <95 2.08738 7.501 7.501
-2 TH=x% <85 1.96311 7.054 7.054
-3 65 =% <175 1.83883 6.608 6.608
-4 B =% <65 1.71456 6.161 6.161
-h 45 =% <55 1.59029 5.715 5.715
-6 35=x <45 1.46602 5.268 5.268
-7 25 =x% <35 1.34175 4.822 4.822
-8 15=x <25 1.21748 4.375 4.375
-9 5=x <15 1.09320 3.928 3.928
-10 0=x <5 1.00000 3.593 3.593
S T
0.50000 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
AR, EE TS L AE
R T
= \ TR
SIS | TRBR | BERARS | e
I EISSE 15> 7.735
fens | s coomm | mw | ST |
B (%) E S B A P
(%) (%)
10 195=+% 4.70073 18.180 18.180
9 185 =% <195 3.33010 12.879 12.879
8 175=% <185 3.20583 12.399 12.399
7 165 =3* <175 3.08155 11.918 11.918
6 155 =%* <165 2.95728 11.437 11.437
5 145 =% <155 2.83301 10.957 10.957
4 135=%* <145 2.70874 10.476 10.476
3 125 =% <135 2.58447 9.995 9.995
2 115=%* <125 2.46019 9.515 9.515
1 105 =% <115 2.33592 9.034 9.034
0 95 =% <105 2.21165 8.554 8.554
-1 85 =% <95 2.08738 8.073 8.073
-2 T5=%* <85 1.96311 7.592 7.592
-3 6o = <75 1.83883 7.112 7.112
—4 b5 =%* <65 1.71456 6.631 6.631
-5 45 =% <55 1.59029 6.150 6.150
—6 35==x <45 1.46602 5.670 5.670
7 25 =% <35 1.34175 5.189 5.189
—8 15=x% <25 1.21748 4.709 4.709
-9 b=%* <15 1.09320 4.228 4.228
-10 0==x* <5 1.00000 3.867 3.867
R BEET
0.50000{ 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
%4, RS
— ) TR %
SHEKs | AR | SRy @%;@@
B AR 2L 0.764
e | wmaEs o | e | RERE ) R
* ; i i
IZ)U ( AJ) *EI;& (%) (%)
10 195==x 5.65684 2.161 2.161
9 185==x <195 4.09344 1.564 1.564
8 175=% <185 3.92846 1.501 1.501
7 165 =% <175 3.76347 1.438 1.438
§) 155=sx <165 3.59849 1.375 1.375
5 145=x <155 3.43350 1.312 1.312
4 135=x% <145 3.26852 1.249 1.249
3 125=x% <135 3.10354 1.186 1.186
2 115=% <125 2.93855 1.123 1.123
1 105 =% <115 2.77357 1.060 1.060
0 95 <x% <105 2.60859 0.996 0.996
-1 85 =x% <95 2.44360 0.933 0.933
-2 TH=x% <85 2.27862 0.870 0.870
-3 65 =% <75 2.11364 0.807 0.807
-4 B =% <65 1.94865 0.744 0.744
-h 45 <x <55 1.78367 0.681 0.681
-6 35=x <45 1.61869 0.618 0.618
-7 25=sx <35 1.45370 0.555 0.555
-8 15=x% <25 1.28872 0.492 0.492
-9 5=x <15 1.12374 0.429 0.429
-10 0=sx <5 1.00000 0.382 0.382
N EZSIT
0.50000 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
AR, EE TS L AE
Hiulgk 4 e,
= ‘ TAES
SIS | TRBR | BERARS | e
B L7l 1A 0.069
e | ERER@omE | fr | O
£ ¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 0.195 0.195
9 185 =% <195 4.09344 0.141 0.141
8 175=% <185 3.92846 0.136 0.136
7 165 =% <175 3.76347 0.130 0.130
6 155 =%* <165 3.59849 0.124 0.124
5 145 =% <155 3.43350 0.118 0.118
4 135=%* <145 3.26852 0.113 0.113
3 125 =% <135 3.10354 0.107 0.107
2 115=%* <125 2.93855 0.101 0.101
1 105 =% <115 2.77357 0.096 0.096
0 95 =% <105 2.60859 0.090 0.090
-1 85 =% <95 2.44360 0.084 0.084
-2 T5=%* <85 2.27862 0.079 0.079
-3 6o = <75 2.11364 0.073 0.073
—4 bh==x* <65 1.94865 0.067 0.067
-5 45 =% <55 1.78367 0.062 0.062
—6 35==x <45 1.61869 0.056 0.056
7 25 =% <35 1.45370 0.050 0.050
-8 15=% <25 1.28872 0.044 0.044
-9 b=%* <15 1.12374 0.039 0.039
-10 0=*% <5 1.00000 0.034 0.034
R 5
0.50000] 2.00000




IR B e A R S
(AR 007 (5E - BE 11 )
TR T
HESA, EE TS L AE
% AT
= ‘ TFES
SIS | TRBR | BERARS | e
B L7l 150 0.676
e | wmaEs o | e | RERE ) R
¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 1.912 1.912
9 185 =% <195 4.09344 1.384 1.384
8 175=%* <185 3.92846 1.328 1.328
7 165 =3* <175 3.76347 1.272 1.272
6 155 =%* <165 3.59849 1.216 1.216
5 145 =% <155 3.43350 1.161 1.161
4 135=x <145 3.26852 1.105 1.105
3 125 =% <135 3.10354 1.049 1.049
2 115=%* <125 2.93855 0.993 0.993
1 105=x <115 2.77357 0.937 0.937
0 95 =% <105 2.60859 0.882 0.882
-1 85 =% <95 2.44360 0.826 0.826
-2 T5=%* <85 2.27862 0.770 0.770
-3 6o = <75 2.11364 0.714 0.714
—4 bh==x* <65 1.94865 0.659 0.659
-5 45 =% <55 1.78367 0.603 0.603
—6 35==x <45 1.61869 0.547 0.547
7 25 =% <35 1.45370 0.491 0.491
—8 15=% <25 1.28872 0.436 0.436
-9 b=%* <15 1.12374 0.380 0.380
-10 0==x* <5 1.00000 0.338 0.338
T [P
0.50000] 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
HESA, EE TS L AE
% T
= ‘ TFES
SIS | TRBR | BERARS | e
G kAL L7 L5/ 0.763
e | wmaEs o | e | RERE ) R
¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 2.158 2.158
9 185 =% <195 4.09344 1.562 1.562
8 175=%* <185 3.92846 1.499 1.499
7 165 =3* <175 3.76347 1.436 1.436
6 155 =%* <165 3.59849 1.373 1.373
5 145 =% <155 3.43350 1.310 1.310
4 135=%* <145 3.26852 1.247 1.247
3 125 =% <135 3.10354 1.184 1.184
2 115=%* <125 2.93855 1.121 1.121
1 105=x <115 2.77357 1.058 1.058
0 95 =% <105 2.60859 0.995 0.995
-1 85 =% <95 2.44360 0.932 0.932
-2 THh=% <85 2.27862 0.869 0.869
-3 6o = <75 2.11364 0.806 0.806
—4 b5 =%* <65 1.94865 0.743 0.743
-5 45 =% <55 1.78367 0.680 0.680
—6 35==x <45 1.61869 0.618 0.618
7 25 =% <35 1.45370 0.555 0.555
-8 15=% <25 1.28872 0.492 0.492
-9 b=%* <15 1.12374 0.429 0.429
-10 0==x* <5 1.00000 0.381 0.381
T [P
0.50000] 2.00000




e B S o e e
AR 007 (FET BT )
BT TR
OB, IS S s
%, 7 TR
= ) TR
SIS | TRBR | BERARS | e
kLA 3% 2L 0.961
e | wmaEs o | e | RERE ) R
i b 5 5
IZ)U ( AJ) *EI;& (%) (%)
10 195 =% 5.65684 2.718 2.718
9 185 =% <195 4.09344 1.967 1.967
8 175=% <185 3.92846 1.888 1.888
7 165=x <175 3.76347 1.808 1.808
6 155 =% <165 3.59849 1.729 1.729
5 145 =% <155 3.43350 1.650 1.650
4 135=+% <145 3.26852 1.571 1.571
3 125 =% <135 3.10354 1.491 1.491
2 115=% <125 2.93855 1.412 1.412
1 105 =% <115 2.77357 1.333 1.333
0 95 =% <105 2.60859 1.253 1.253
-1 85 =% <95 2.44360 1.174 1.174
—2 75 =% <85 2.27862 1.095 1.095
-3 65 =* <75 2.11364 1.016 1.016
—4 b5 =% <65 1.94865 0.936 0.936
-5 45 =% <5bh 1.78367 0.857 0.857
—6 35=x <45 1.61869 0.778 0.778
=7 25 =% <35 1.45370 0.699 0.699
—8 15=% <25 1.28872 0.619 0.619
-9 b= <15 1.12374 0.540 0.540
-10 0=%* <bh 1.00000 0.480 0.480
N B A
0.50000{ 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
HESA, EE TS L AE
% T
= ‘ TFES
SIS | TRBR | BERARS | e
EERE +% 1A 0.069
e | wmaEs o | e | RERE ) R
¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 0.195 0.195
9 185 =% <195 4.09344 0.141 0.141
8 175=%* <185 3.92846 0.136 0.136
7 165 =3* <175 3.76347 0.130 0.130
6 155 =%* <165 3.59849 0.124 0.124
5 145 =% <155 3.43350 0.118 0.118
4 135=x <145 3.26852 0.113 0.113
3 125 =% <135 3.10354 0.107 0.107
2 115=%* <125 2.93855 0.101 0.101
1 105=x <115 2.77357 0.096 0.096
0 95 =% <105 2.60859 0.090 0.090
-1 85 =% <95 2.44360 0.084 0.084
-2 T5=%* <85 2.27862 0.079 0.079
-3 6o = <75 2.11364 0.073 0.073
—4 bh==x* <65 1.94865 0.067 0.067
-5 45 =% <55 1.78367 0.062 0.062
—6 35==x <45 1.61869 0.056 0.056
7 25 =% <35 1.45370 0.050 0.050
-8 15=% <25 1.28872 0.044 0.044
-9 b=%* <15 1.12374 0.039 0.039
-10 0==x* <5 1.00000 0.034 0.034
T [P
0.50000] 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
AR, EE TS L AE
% T
= ‘ THA
SIS | TRBR | BERARS | e
EERE +% 170 0.873
e | wmaEs o | e | RERE ) R
¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 2.469 2.469
9 185 =% <195 4.09344 1.787 1.787
8 175=%* <185 3.92846 1.715 1.715
7 165 =3* <175 3.76347 1.643 1.643
6 155 =%* <165 3.59849 1.571 1.571
5 145 =% <155 3.43350 1.499 1.499
4 135=%* <145 3.26852 1.427 1.427
3 125 =% <135 3.10354 1.355 1.355
2 115=%* <125 2.93855 1.283 1.283
1 105 =% <115 2.77357 1.211 1.211
0 95 =% <105 2.60859 1.139 1.139
-1 85 =% <95 2.44360 1.067 1.067
-2 THh=% <85 2.27862 0.995 0.995
-3 6o = <75 2.11364 0.923 0.923
—4 b5 =%* <65 1.94865 0.851 0.851
-5 45 =% <55 1.78367 0.779 0.779
—6 35==x <45 1.61869 0.707 0.707
7 25 =% <35 1.45370 0.635 0.635
—8 15=% <25 1.28872 0.563 0.563
-9 b=%* <15 1.12374 0.491 0.491
-10 0==x* <5 1.00000 0.436 0.436
T [T
0.50000] 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
HESA, EE TS L AE
% T
= ‘ TFES
SIS | TRBR | BERARS | e
EERE +% L5/ 0.960
e | wmaEs o | e | RERE ) R
¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 5.65684 2.715 2.715
9 185 =% <195 4.09344 1.965 1.965
8 175=%* <185 3.92846 1.886 1.886
7 165 =3* <175 3.76347 1.806 1.806
6 155 =%* <165 3.59849 1.727 1.727
5 145 =% <155 3.43350 1.648 1.648
4 135=x <145 3.26852 1.569 1.569
3 125 =% <135 3.10354 1.490 1.490
2 115=%* <125 2.93855 1.411 1.411
1 105=x <115 2.77357 1.331 1.331
0 95 =% <105 2.60859 1.252 1.252
-1 85 =% <95 2.44360 1.173 1.173
-2 T5=%* <85 2.27862 1.094 1.094
-3 6o = <75 2.11364 1.015 1.015
—4 bh==x* <65 1.94865 0.935 0.935
-5 45 =% <55 1.78367 0.856 0.856
—6 35==x <45 1.61869 0.777 0.777
7 25 =% <35 1.45370 0.698 0.698
—8 15=% <25 1.28872 0.619 0.619
-9 b=%* <15 1.12374 0.539 0.539
-10 0==x* <5 1.00000 0.480 0.480
T [P
0.50000] 2.00000




fe By B i ok M R s 3
HASEE 007 CAs T E )
B e
D=4, L SIS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
ZoEHMEE | FEXS 2L 1.615
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.00572 3.235 3.235
9 185==x <195 2.34495 1.894 1.894
8 175=x <185 2.27322 1.836 1.836
7 165 =% <175 2.20149 1.778 1.778
§) 155 =% <165 2.12976 1.720 1.720
5 145=x <155 2.05803 1.662 1.662
4 135=x% <145 1.98630 1.604 1.604
3 125=% <135 1.91457 1.546 1.546
2 115=% <125 1.84284 1.488 1.488
1 105 =% <115 1.77110 1.430 1.430
0 95 =% <105 1.69937 1.372 1.372
-1 85 =x% <95 1.62764 1.314 1.314
-2 75 =% <85 1.55591 1.256 1.256
-3 65 =% <75 1.48418 1.198 1.198
-4 5h =% <65 1.41245 1.141 1.141
-h 45 =% <55 1.34072 1.083 1.083
-6 35=x <45 1.26899 1.025 1.025
-7 25 =x% <35 1.19726 0.967 0.967
-8 15=x <25 1.12553 0.909 0.909
-9 5=x <15 1.05380 0.851 0.851
-10 0=x <5 1.00000 0.807 0.807
N EZ
0.50000 2.00000




F R B A R S R
GAEEE 007 (3 B 26 )
TR, R
AL, R RS
T % ST
capsy | AR | RSy | JRE
FEAESR (%)
ZoEHMEE | FEXS 254 0.069
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.00572 0.138 0.138
9 185==x <195 2.34495 0.081 0.081
8 175=x <185 2.27322 0.078 0.078
7 165 =% <175 2.20149 0.076 0.076
§) 155=sx <165 2.12976 0.073 0.073
5 145 <% <155 2.05803 0.071 0.071
4 135=x% <145 1.98630 0.069 0.069
3 125<x% <135 1.91457 0.066 0.066
2 115=x <125 1.84284 0.064 0.064
1 105 =% <115 1.77110 0.061 0.061
0 95 <x% <105 1.69937 0.059 0.059
-1 85 =x% <95 1.62764 0.056 0.056
-2 TH=x% <85 1.55591 0.054 0.054
-3 65 =3 <175 1.48418 0.051 0.051
-4 B =% <65 1.41245 0.049 0.049
-h 45 =% <55 1.34072 0.046 0.046
-6 35=x <45 1.26899 0.044 0.044
-7 25=sx <35 1.19726 0.041 0.041
-8 15=x <25 1.12553 0.039 0.039
-9 H=x <15 1.05380 0.036 0.036
-10 0=sx <5 1.00000 0.034 0.034
N EESI
0.50000 2.00000




IR B B A 5 P P e S
AR 007 (BE1= B FH 2 7)
TR T
ey 22 B R EAA
% 4 S
sy | TmR | wasks | SRS
FEVEER (%)
BORHMEE | SEXB 25H 1.355
fens | s coomm | mw | ST |
B (%) FE%K A EEE
(%) (%)
10 195 =% 4.00572 2.714 2.714
9 185 =% <195 2.34495 1.589 1.589
8 175=% <185 2.27322 1.540 1.540
7 165 =* <175 2.20149 1.492 1.492
6 155 =% <165 2.12976 1.443 1.443
5 145 =% <155 2.05803 1.394 1.394
4 135=x% < 145 1.98630 1.346 1.346
3 125 =% <135 1.91457 1.297 1.297
2 115=% <125 1.84284 1.249 1.249
1 105=x <115 1.77110 1.200 1.200
0 95 =% <105 1.69937 1.151 1.151
-1 85 =3 <95 1.62764 1.103 1.103
-2 Th=% <85 1.55591 1.054 1.054
-3 65 =* <75 1.48418 1.006 1.006
—4 hh=x* <65 1.41245 0.957 0.957
-5 45 =% <5bh 1.34072 0.908 0.908
-6 35=x <45 1.26899 0.860 0.860
-7 25 =% <35 1.19726 0.811 0.811
—8 15=% <25 1.12553 0.763 0.763
-9 b= <15 1.05380 0.714 0.714
-10 0=%* <5 1.00000 0.677 0.677
r |[TBIE
0.50000{ 2.00000




16 5% B P A i i A VE SR SR T
ME%EEF S 007 (FETCBEH HL97)
A B A4 1 5 I
i 2 & b RS R S
I 4, [EESET
ZHKs | PR | R | JSOA®
PEAERR (%)
BORHMEE | SEXB 275/ 1.259
R | TEERER O OMI | fam | DA | S
IN 0 B3k %"ﬁ% j’:i:kl\ﬂ‘zﬁ{-
IZ)U ( AJ) *EI;& (%) (%)
10 195 = 4.00572 2.522 2.522
9 185 = <195 2.34495 1.476 1.476
8 175 =* <185 2.27322 1.431 1.431
7 165 = <175 2.20149 1.386 1.386
6 155 =* <165 2.12976 1.341 1.341
5 145 <% <155 2.05803 1.296 1.296
4 135 =* <145 1.98630 1.250 1.250
3 125 =* <135 1.91457 1.205 1.205
2 115 = <125 1.84284 1.160 1.160
1 105 =* <115 1.77110 1.115 1.115
0 95 <% <105 1.69937 1.070 1.070
1 85 < <95 1.62764 1.025 1.025
-2 75 =% <85 1.55591 0.979 0.979
-3 65 =* <75 1.48418 0.934 0.934
—4 55 <% <65 1.41245 0.889 0.889
5 45 =% <55 1.34072 0.844 0.844
6 35 =% <45 1.26899 0.799 0.799
—7 25 =% <35 1.19726 0.754 0.754
-3 15=x <25 1.12553 0.709 0.709
-9 5=x <15 1.05380 0.663 0.663
~10 0=x <5 1.00000 0.629 0.629
r SEEME
0.50000]  2.00000




IR B L B R
(AR 007 (3E =BT 3%)
EE NI T
AR, B IUE LA
Hiulgk 4 e,
= ‘ THA
SIS | TRBR | BERARS | e
ARCEEA ] Lagn 2L 1.050
e | ERER@omE | fr | O
£ ¢ ; 5 b
IZ)U ( AJ) *EI;& (%) (%)
10 195=+% 4.09412 2.149 2.149
9 185 =% <195 2.83316 1.487 1.487
8 175=%* <185 2.73539 1.436 1.436
7 165 =3* <175 2.63762 1.385 1.385
6 155 =%* <165 2.53985 1.333 1.333
5 145 =% <155 2.44208 1.282 1.282
4 135=%* <145 2.34431 1.231 1.231
3 125 =% <135 2.24655 1.179 1.179
2 115=%* <125 2.14878 1.128 1.128
1 105 =% <115 2.05101 1.077 1.077
0 95 =% <105 1.95324 1.025 1.025
-1 85 =% <95 1.85547 0.974 0.974
-2 T5=%* <85 1.75770 0.923 0.923
-3 6o = <75 1.65994 0.871 0.871
—4 b5 =%* <65 1.56217 0.820 0.820
-5 45=%* <55 1.46440 0.769 0.769
—6 35==x <45 1.36663 0.717 0.717
7 25 =% <35 1.26886 0.666 0.666
—8 15=% <25 1.17109 0.615 0.615
-9 b=%* <15 1.07333 0.563 0.563
-10 0==x* <5 1.00000 0.525 0.525
R 5
0.50000] 2.00000




F R B A R S R
AR 007 (3 B 26 )
TR, R
AL, R RS
I 4, RN
SHcs | PR | RERAKS | JRE
ﬁ%@@( /0)
B IEE 4 L7200 2754 0.069
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.09412 0.141 0.141
9 185==x <195 2.83316 0.098 0.098
8 175=x <185 2.73539 0.094 0.094
7 165 =% <175 2.63762 0.091 0.091
§) 155 =% <165 2.53985 0.088 0.088
5 145 <% <155 2.44208 0.084 0.084
4 135=x% <145 2.34431 0.081 0.081
3 125<x% <135 2.24655 0.078 0.078
2 115=x <125 2.14878 0.074 0.074
1 105 =% <115 2.05101 0.071 0.071
0 95 =% <105 1.95324 0.067 0.067
-1 85 =x% <95 1.85547 0.064 0.064
-2 THh=%* <85 1.75770 0.061 0.061
-3 65 =% <175 1.65994 0.057 0.057
-4 B =% <65 1.56217 0.054 0.054
-5 45 =% <55 1.46440 0.051 0.051
-6 35=x <45 1.36663 0.047 0.047
-7 25 =x% <35 1.26886 0.044 0.044
-8 15=x <25 1.17109 0.040 0.040
-9 H=x <15 1.07333 0.037 0.037
-10 0=sx <5 1.00000 0.034 0.034
N EESI
0.50000 2.00000




R B 4 A R S
WOsEEE 007 (B T BE A L)
T T
WO, TR LA
%4, SRS
- ) EETREYS
SHEKs | AR | SRy @%;@@
B IEE 4 L7200 2751 0.933
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.09412 1.910 1.910
9 185==x <195 2.83316 1.322 1.322
8 175=% <185 2.73539 1.276 1.276
7 165 =% <175 2.63762 1.230 1.230
§) 155=sx <165 2.53985 1.185 1.185
5 145=x <155 2.44208 1.139 1.139
4 135=x% <145 2.34431 1.094 1.094
3 125=x% <135 2.24655 1.048 1.048
2 115=% <125 2.14878 1.002 1.002
1 105 =% <115 2.05101 0.957 0.957
0 95 <x% <105 1.95324 0.911 0.911
-1 85 =x% <95 1.85547 0.866 0.866
-2 THh=%* <85 1.75770 0.820 0.820
-3 65 =3 <175 1.65994 0.774 0.774
-4 B =% <65 1.56217 0.729 0.729
-h 45 =% <55 1.46440 0.683 0.683
-6 35=x <45 1.36663 0.638 0.638
-7 25 =x% <35 1.26886 0.592 0.592
-8 15=x <25 1.17109 0.546 0.546
-9 5=x <15 1.07333 0.501 0.501
-10 0=sx <5 1.00000 0.466 0.466
S T
0.50000 2.00000




IR B L B R
(AR 007 (3E =BT 3%)
TR T
AR, EE TS L AE
R T
= \ TR
SIS | TRBR | BERARS | e
ARCEEA ] Lagn 275/~ 0.944
fens | s coomm | mw | ST |
B (%) g | Mot | P
(%) (%)
10 195=+% 4.09412 1.932 1.932
9 185 =% <195 2.83316 1.337 1.337
8 175=%* <185 2.73539 1.291 1.291
7 165 =3* <175 2.63762 1.245 1.245
6 155 =% <165 2.53985 1.199 1.199
5 145 =% <155 2.44208 1.153 1.153
4 135=%* <145 2.34431 1.107 1.107
3 125 =% <135 2.24655 1.060 1.060
2 115=%* <125 2.14878 1.014 1.014
1 105 =% <115 2.05101 0.968 0.968
0 95 =% <105 1.95324 0.922 0.922
-1 85=%% <95 1.85547 0.876 0.876
-2 THh=% <85 1.75770 0.830 0.830
-3 6o = <75 1.65994 0.783 0.783
—4 bh==x* <65 1.56217 0.737 0.737
-5 45 =% <55 1.46440 0.691 0.691
—6 35==x <45 1.36663 0.645 0.645
7 25 =% <35 1.26886 0.599 0.599
—8 15=x% <25 1.17109 0.553 0.553
-9 b=%* <15 1.07333 0.507 0.507
-10 0=*% <5 1.00000 0.472 0.472
R BEET
0.50000{ 2.00000




F R B A R S R
AR 007 (3 B 26 )
TR, R
AR, R RS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
BRCRER] 5 2L 2.354
fens | s coomm | mw | ST |
%4 (%) gy | MEE | Hex
(%) (%)
10 195==x 4.09412 4.819 4.819
9 185==x <195 2.83316 3.335 3.335
8 175=x <185 2.73539 3.220 3.220
7 165 =% <175 2.63762 3.104 3.104
§) 155=sx <165 2.53985 2.989 2.989
5 145 <% <155 2.44208 2.874 2.874
4 135=x% <145 2.34431 2.759 2.759
3 125<x% <135 2.24655 2.644 2.644
2 115=x <125 2.14878 2.529 2.529
1 105 =% <115 2.05101 2.414 2.414
0 95 =% <105 1.95324 2.299 2.299
-1 85 =x% <95 1.85547 2.184 2.184
-2 THh=%* <85 1.75770 2.069 2.069
-3 65 =3 <175 1.65994 1.954 1.954
-4 B =% <65 1.56217 1.839 1.839
-h 45 =% <55 1.46440 1.724 1.724
-6 35=x <45 1.36663 1.609 1.609
-7 25=sx <35 1.26886 1.493 1.493
-8 15=x <25 1.17109 1.378 1.378
-9 5=x <15 1.07333 1.263 1.263
-10 0=sx <5 1.00000 1.177 1.177
I T
0.50000 2.00000




fe By B i ok M R s 3
MHASEE 007 CAs T E )
a4, e
D=4, RS
I 4, RN
SHcs | PR | RERAKS | JRE
ﬁ%@@( /0)
FEciEEE] T8 254 0.069
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 4.09412 0.141 0.141
9 185==x <195 2.83316 0.098 0.098
8 175=x <185 2.73539 0.094 0.094
7 165 =% <175 2.63762 0.091 0.091
§) 155 =% <165 2.53985 0.088 0.088
5 145=x <155 2.44208 0.084 0.084
4 135=x% <145 2.34431 0.081 0.081
3 125=x% <135 2.24655 0.078 0.078
2 115=% <125 2.14878 0.074 0.074
1 105 =% <115 2.05101 0.071 0.071
0 95 =% <105 1.95324 0.067 0.067
-1 85 == <95 1.85547 0.064 0.064
-2 THh=%* <85 1.75770 0.061 0.061
-3 65 =% <75 1.65994 0.057 0.057
-4 HH =3 <65 1.56217 0.054 0.054
-h 45 <x <55 1.46440 0.051 0.051
-6 35=x <45 1.36663 0.047 0.047
-7 25 =x% <35 1.26886 0.044 0.044
-8 15=x <25 1.17109 0.040 0.040
-9 5=x <15 1.07333 0.037 0.037
-10 0=sx <5 1.00000 0.034 0.034
N EZ
0.50000 2.00000




F R B A R S R
GAEEE 007 (3 B 26 )
TEE% R
AR, RS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
FEciEEE] T8 251 2.242
fElRERME | THREE ) O | falk %ﬁ%ﬁ v
%4 (%) gy | MEE | Hex
(%) (%)
10 195=x% 4.09412 4.590 4.590
9 185=x% <195 2.83316 3.176 3.176
8 175=x <185 2.73539 3.066 3.066
7 165 =% <175 2.63762 2.957 2.957
§) 155=sx <165 2.53985 2.847 2.847
5 145=x <155 2.44208 2.738 2.738
4 135=x <145 2.34431 2.628 2.628
3 125=x% <135 2.24655 2.518 2.518
2 115=x <125 2.14878 2.409 2.409
1 105=sx <115 2.05101 2.299 2.299
0 95 =% <105 1.95324 2.190 2.190
-1 85 =x% <95 1.85547 2.080 2.080
-2 TH=x% <85 1.75770 1.970 1.970
-3 65 =3 <175 1.65994 1.861 1.861
-4 HH =3 <65 1.56217 1.751 1.751
-5 45 =% <55 1.46440 1.642 1.642
-6 35=sx% <45 1.36663 1.532 1.532
-7 25=sx <35 1.26886 1.422 1.422
-8 15=x <25 1.17109 1.313 1.313
-9 H=x <15 1.07333 1.203 1.203
-10 0=x <5 1.00000 1.121 1.121
I T
0.50000 2.00000




F R B A R S R
GAEEE 007 (3 B 26 )
TEE% R
AR, RS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
FEciEEE] T8 275/ 2.227
fElRERME | THREE ) O | falk %ﬁ%ﬁ v
%4 (%) gy | MEE | Hex
(%) (%)
10 195=x% 4.09412 4.559 4.559
9 185=x% <195 2.83316 3.155 3.155
8 175=x <185 2.73539 3.046 3.046
7 165 =% <175 2.63762 2.937 2.937
§) 155=sx <165 2.53985 2.828 2.828
5 145 <% <155 2.44208 2.719 2.719
4 135=x <145 2.34431 2.610 2.610
3 125=x% <135 2.24655 2.502 2.502
2 115=x <125 2.14878 2.393 2.393
1 105=sx <115 2.05101 2.284 2.284
0 95 =% <105 1.95324 2.175 2.175
-1 85 =x% <95 1.85547 2.066 2.066
-2 TH=x% <85 1.75770 1.957 1.957
-3 65 =3 <175 1.65994 1.848 1.848
-4 HH =3 <65 1.56217 1.739 1.739
-5 45 =% <55 1.46440 1.631 1.631
-6 35=sx% <45 1.36663 1.522 1.522
-7 25=sx <35 1.26886 1.413 1.413
-8 15=x <25 1.17109 1.304 1.304
-9 H=x <15 1.07333 1.195 1.195
-10 0=sx <5 1.00000 1.113 1.113
I T
0.50000 2.00000




fe By B i ok M R s 3
HASEE 007 CAs T E )
B e
D=4, L SIS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
2o M et 5 2L 2.870
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 3.02564 4.342 4.342
9 185==x <195 2.92308 4.195 4.195
8 175=% <185 2.82051 4.047 4.047
7 165 =% <175 2.71795 3.900 3.900
§) 155=sx <165 2.61538 3.753 3.753
5 145=x <155 2.51282 3.606 3.606
4 135=x% <145 2.41026 3.459 3.459
3 125=x% <135 2.30769 3.312 3.312
2 115=% <125 2.20513 3.164 3.164
1 105 =% <1156 2.10256 3.017 3.017
0 95 <x% <105 2.00000 2.870 2.870
-1 85 == <95 1.89744 2.723 2.723
-2 75 =% <85 1.79487 2.576 2.576
-3 65 =% <75 1.69231 2.428 2.428
-4 5h =% <65 1.58974 2.281 2.281
-h 45 <x <55 1.48718 2.134 2.134
-6 35=x <45 1.38462 1.987 1.987
-7 25 =x% <35 1.28205 1.840 1.840
-8 15=x <25 1.17949 1.693 1.693
-9 5=x <15 1.07692 1.545 1.545
-10 0=sx <5 1.00000 1.435 1.435
N EZ
0.50000 2.00000




fe By B i ok M R s 3
MHASEE 007 CAs T E )
a4, e
D=4, RS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
BORHMERS | SEXEB 37 0.069
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 3.02564 0.104 0.104
9 185==x <195 2.92308 0.101 0.101
8 175=% <185 2.82051 0.097 0.097
7 165 =% <175 2.71795 0.094 0.094
§) 155 =% <165 2.61538 0.090 0.090
5 145=x <155 2.51282 0.087 0.087
4 135=x% <145 2.41026 0.083 0.083
3 125=x% <135 2.30769 0.080 0.080
2 115=% <125 2.20513 0.076 0.076
1 105 =% <1156 2.10256 0.073 0.073
0 95 <x% <105 2.00000 0.069 0.069
-1 85 =x% <95 1.89744 0.065 0.065
-2 75 =% <85 1.79487 0.062 0.062
-3 65 =% <75 1.69231 0.058 0.058
-4 5h =% <65 1.58974 0.055 0.055
-h 45 <x <55 1.48718 0.051 0.051
-6 35=x <45 1.38462 0.048 0.048
-7 25 =x% <35 1.28205 0.044 0.044
-8 15=x% <25 1.17949 0.041 0.041
-9 5=x <15 1.07692 0.037 0.037
-10 0=sx <5 1.00000 0.034 0.034
N EZ
0.50000 2.00000




fe By B i ok M R s 3
MHASEE 007 CAs T E )
a4, e
D=4, RS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
ARCIETS | IR 2L 8.680
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 3.92990 17.056 17.056
9 185==x <195 3.54939 15.404 15.404
8 175=x <185 3.41342 14.814 14.814
7 165 =% <175 3.27746 14.224 14.224
§) 155 =% <165 3.14149 13.634 13.634
5 145=x <155 3.00552 13.044 13.044
4 135=x% <145 2.86955 12.454 12.454
3 125=x% <135 2.73359 11.864 11.864
2 115=% <125 2.59762 11.274 11.274
1 105 =% <115 2.46165 10.684 10.684
0 95 <x% <105 2.32568 10.093 10.093
-1 85 =x% <95 2.18972 9.503 9.503
-2 THh=%* <85 2.05375 8.913 8.913
-3 65 =% <75 1.91778 8.323 8.323
-4 5h =% <65 1.78181 7.733 7.733
-h 45 <x <55 1.64585 7.143 7.143
-6 35=x <45 1.50988 6.553 6.553
-7 25=sx <35 1.37391 5.963 5.963
-8 15=x <25 1.23794 5.373 5.373
-9 5=x <15 1.10198 4.783 4.783
-10 0=sx <5 1.00000 4.340 4.340
N EZ
0.50000 2.00000




fe By B i ok M R s 3
MHASEE 007 CAs T E )
a4, e
D=4, RS
I 4, RN
SHcs | PR | RERAKS | JRE
ﬁ%@@( /0)
DAY EISSES 37 0.069
fens | s coomm | mw | ST |
X4y (%) FEX A O
(%) (%)
10 195==x 3.92990 0.136 0.136
9 185==x <195 3.54939 0.122 0.122
8 175=% <185 3.41342 0.118 0.118
7 165 =% <175 3.27746 0.113 0.113
§) 155=sx <165 3.14149 0.108 0.108
5 145=x <155 3.00552 0.104 0.104
4 135=x% <145 2.86955 0.099 0.099
3 125=x% <135 2.73359 0.094 0.094
2 115=% <125 2.59762 0.090 0.090
1 105 =% <115 2.46165 0.085 0.085
0 95 <x% <105 2.32568 0.080 0.080
-1 85 == <95 2.18972 0.076 0.076
-2 75 =% <85 2.05375 0.071 0.071
-3 65 =% <75 1.91778 0.066 0.066
-4 HH =3 <65 1.78181 0.061 0.061
-h 45 =% <55 1.64585 0.057 0.057
-6 35=x <45 1.50988 0.052 0.052
-7 25=sx <35 1.37391 0.047 0.047
-8 15=x <25 1.23794 0.043 0.043
-9 5=x <15 1.10198 0.038 0.038
-10 0=sx <5 1.00000 0.034 0.034
N EZ
0.50000 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
I 4, RN
— ) TR %
SHEKs | AR | SRy @%;@@
il HExI % 7L 4.653
e | wmaEs o | e | RERE ) R
i ; i i
IZ)U ( AJ) *EI;& (%) (%)
10 195==x 6.49852 15.119 15.119
9 185==x <195 1.47902 3.441 3.441
8 175=% <185 1.45347 3.381 3.381
7 165 =% <175 1.42792 3.322 3.322
§) 155=sx <165 1.40237 3.263 3.263
5 145=x <155 1.37683 3.203 3.203
4 135=x% <145 1.35128 3.144 3.144
3 125=x% <135 1.32573 3.084 3.084
2 115=% <125 1.30018 3.025 3.025
1 105 =% <115 1.27464 2.965 2.965
0 95 <x% <105 1.24909 2.906 2.906
-1 85 =x% <95 1.22354 2.847 2.847
-2 TH=x% <85 1.19799 2.787 2.787
-3 65 =% <75 1.17245 2.728 2.728
-4 B =% <65 1.14690 2.668 2.668
-h 45 =% <55 1.12135 2.609 2.609
-6 35=x <45 1.09580 2.549 2.549
-7 25 =x% <35 1.07026 2.490 2.490
-8 15=x <25 1.04471 2.431 2.431
-9 5=x <15 1.01916 2.371 2.371
-10 0=sx <5 1.00000 2.326 2.326
N EZSIT
0.50000 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
I 4, RN
— ) TR %
SHEKs | AR | SRy @%;@@
[z FExt 5 451 0.047
e | wmaEs o | e | RERE ) R
* ; i i
IZ)U ( AJ) *EI;& (%) (%)
10 195==x 6.49852 0.153 0.153
9 185==x <195 1.47902 0.035 0.035
8 175=% <185 1.45347 0.034 0.034
7 165 =% <175 1.42792 0.034 0.034
§) 155=sx <165 1.40237 0.033 0.033
5 145=x <155 1.37683 0.032 0.032
4 135=x% <145 1.35128 0.032 0.032
3 125=x% <135 1.32573 0.031 0.031
2 115=% <125 1.30018 0.031 0.031
1 105 =% <115 1.27464 0.030 0.030
0 95 =% <105 1.24909 0.029 0.029
-1 85 =x% <95 1.22354 0.029 0.029
-2 TH=x% <85 1.19799 0.028 0.028
-3 65 =% <75 1.17245 0.028 0.028
-4 B =% <65 1.14690 0.027 0.027
-h 45 =% <55 1.12135 0.026 0.026
-6 35=x <45 1.09580 0.026 0.026
-7 25=sx <35 1.07026 0.025 0.025
-8 15=x <25 1.04471 0.025 0.025
-9 5=x <15 1.01916 0.024 0.024
-10 0=sx <5 1.00000 0.023 0.023
N EZSIT
0.50000 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
%4, RS
— ) TR %
SHEKs | AR | SRy @%;@@
il HExI % 4751 4.364
e | wmaEs o | e | RERE ) R
* ; i i
IZ)U ( AJ) *EI;& (%) (%)
10 195==x 6.49852 14.180 14.180
9 185==x <195 1.47902 3.227 3.227
8 175=% <185 1.45347 3.171 3.171
7 165 =% <175 1.42792 3.116 3.116
§) 155=sx <165 1.40237 3.060 3.060
5 145=x <155 1.37683 3.004 3.004
4 135=x% <145 1.35128 2.948 2.948
3 125=x% <135 1.32573 2.893 2.893
2 115=% <125 1.30018 2.837 2.837
1 105 =% <115 1.27464 2.781 2.781
0 95 <x% <105 1.24909 2.726 2.726
-1 85 =x% <95 1.22354 2.670 2.670
-2 THh=%* <85 1.19799 2.614 2.614
-3 65 =% <75 1.17245 2.558 2.558
-4 B =% <65 1.14690 2.503 2.503
-h 45 <x <55 1.12135 2.447 2.447
-6 35=x <45 1.09580 2.391 2.391
-7 25=sx <35 1.07026 2.335 2.335
-8 15=x <25 1.04471 2.280 2.280
-9 5=x <15 1.01916 2.224 2.224
-10 0=x <5 1.00000 2.182 2.182
N EZSIT
0.50000 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
%4, RS
— ) EETREYS
SHEKs | AR | SRy @%;@@
BN | FEXS 72 9.318
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 8.27392 38.548 38.548
9 185==x <195 1.58014 7.362 7.362
8 175=% <185 1.54920 7.218 7.218
7 165 =% <175 1.51826 7.074 7.074
§) 155=sx <165 1.48732 6.929 6.929
5 145=x <155 1.45638 6.785 6.785
4 135=x% <145 1.42544 6.641 6.641
3 125=x% <135 1.39450 6.497 6.497
2 115=x <125 1.36356 6.353 6.353
1 105 =% <115 1.33261 6.209 6.209
0 95 =% <105 1.30167 6.064 6.064
-1 85 =x% <95 1.27073 5.920 5.920
-2 TH=x% <85 1.23979 5.776 5.776
-3 65 =% <75 1.20885 5.632 5.632
-4 B =% <65 1.17791 5.488 5.488
-h 45 <x <55 1.14697 5.344 5.344
-6 35=x <45 1.11603 5.200 5.200
-7 25=sx <35 1.08509 5.055 5.055
-8 15=x% <25 1.05415 4911 4911
-9 H=x <15 1.02321 4.767 4.767
-10 0=sx <5 1.00000 4.659 4.659
S T
0.50000 2.00000




fe By B i ok M R s 3
HASEE 007 (BE 1 BE T 36 35%)
FE i 4 e
D=4, L SIS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
FrE o iE K| FEXTSR 7L 20.741
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 8.27392 85.805 85.805
9 185==x <195 1.58014 16.387 16.387
8 175=x <185 1.54920 16.066 16.066
7 165 =% <175 1.51826 15.745 15.745
§) 155=sx <165 1.48732 15.424 15.424
5 145=x <155 1.45638 15.103 15.103
4 135=x% <145 1.42544 14.783 14.783
3 125=x% <135 1.39450 14.462 14.462
2 115=% <125 1.36356 14.141 14.141
1 105 =% <115 1.33261 13.820 13.820
0 95 =% <105 1.30167 13.499 13.499
-1 85 == <95 1.27073 13.178 13.178
-2 75 =% <85 1.23979 12.857 12.857
-3 65 =% <75 1.20885 12.536 12.536
-4 5h =% <65 1.17791 12.216 12.216
-h 45 =% <55 1.14697 11.895 11.895
-6 35=x <45 1.11603 11.574 11.574
-7 25 =x% <35 1.08509 11.253 11.253
-8 15=x% <25 1.05415 10.932 10.932
-9 5=x <15 1.02321 10.611 10.611
-10 0=x <5 1.00000 10.370 10.370
N EZ
0.50000 2.00000




F R B A R S R
GAEEE 007 (3 B 26 )
R R
AL, S
I 4, RN
SHcs | PR | RERAKS | JRE
ﬁ%@@( /0)
FrE o iE K| FEXTSR 5% 0.078
e | wmaEs o | e | RERE ) R
f b e “
IZ)U ( AJ) *EI;& (%) (%)
10 195==x 8.27392 0.323 0.323
9 185==x <195 1.58014 0.062 0.062
8 175=x <185 1.54920 0.060 0.060
7 165 =% <175 1.51826 0.059 0.059
§) 155=sx <165 1.48732 0.058 0.058
5 145 <% <155 1.45638 0.057 0.057
4 135=x% <145 1.42544 0.056 0.056
3 125<x% <135 1.39450 0.054 0.054
2 115=x <125 1.36356 0.053 0.053
1 105 =% <115 1.33261 0.052 0.052
0 95 =% <105 1.30167 0.051 0.051
-1 85 == <95 1.27073 0.050 0.050
-2 TH=x% <85 1.23979 0.048 0.048
-3 65 =3 <175 1.20885 0.047 0.047
-4 B =% <65 1.17791 0.046 0.046
-h 45 =% <55 1.14697 0.045 0.045
-6 35=sx% <45 1.11603 0.044 0.044
-7 25 =x% <35 1.08509 0.042 0.042
-8 15=x <25 1.05415 0.041 0.041
-9 H=x <15 1.02321 0.040 0.040
-10 0=x <5 1.00000 0.039 0.039
N EESI
0.50000 2.00000




SRR B B 4 P M S S R
WAL 007 (JET- BE JH4E3)
R TR
Y2 EEY RS
WK 4 [ENESES
SHKsy | PR | Esskxs | SRS
FEEVER (%)
AR IS As 5.666
fens | s coomm | mw | ST |
X4 (%) se¥K g e
(%) (%)
10 195 =% 3.02564 8.572 8.572
9 185 =% <195 2.92308 8.281 8.281
8 175 =% <185 2.82051 7.991 7.991
7 165 =% <175 2.71795 7.700 7.700
6 155 =% <165 2.61538 7.409 7.409
5 145 =% <155 2.51282 7.119 7.119
4 135 =% <145 2.41026 6.828 6.828
3 125 =% <135 2.30769 6.538 6.538
2 115=% <125 2.20513 6.247 6.247
1 105 =% <115 2.10256 5.957 5.957
0 95 =% <105 2.00000 5.666 5.666
-1 85 =3 <95 1.89744 5.375 5.375
-2 75 =% <85 1.79487 5.085 5.085
-3 65 =x* <75 1.69231 4.794 4.794
—4 hh=x* <65 1.58974 4.504 4.504
-5 45 =% < 5h 1.48718 4.213 4.213
-6 35 =% <45 1.38462 3.923 3.923
-7 20 =% <35 1.28205 3.632 3.632
-8 15=% <25 1.17949 3.341 3.341
-9 =% <15 1.07692 3.051 3.051
-10 0=: <5 1.00000 2.833 2.833
r [ EE
0.50000 2.00000




fe By B i ok M R s 3
HASEE 007 CAs T E )
B e
D=4, L SIS
I 4, RN
ZHKs | PR | R | JSOA®
FEAESR (%)
A FRREIEAD ] FEXT SR 7L 5.679
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 3.02564 8.591 8.591
9 185==x <195 2.92308 8.300 8.300
8 175=x <185 2.82051 8.009 8.009
7 165 =% <175 2.71795 7.718 7.718
§) 155 =% <165 2.61538 7.426 7.426
5 145 =% <155 2.51282 7.135 7.135
4 135=x% <145 2.41026 6.844 6.844
3 125=x% <135 2.30769 6.553 6.553
2 115=% <125 2.20513 6.261 6.261
1 105 =% <1156 2.10256 5.970 5.970
0 95 <x% <105 2.00000 5.679 5.679
-1 85 =x% <95 1.89744 5.388 5.388
-2 THh=%* <85 1.79487 5.097 5.097
-3 65 =% <75 1.69231 4.805 4.805
-4 5h =% <65 1.58974 4.514 4.514
-h 45 <x <55 1.48718 4.223 4.223
-6 35=x <45 1.38462 3.932 3.932
-7 25=sx <35 1.28205 3.640 3.640
-8 15=x <25 1.17949 3.349 3.349
-9 5=x <15 1.07692 3.058 3.058
-10 0=sx <5 1.00000 2.839 2.839
N EZ
0.50000 2.00000




i B e B A Y s S5
WA%EE 007 (FET- B 46 3%)
T T
22 TR LA
%4, RS
— ) TR %
SHEKs | AR | SRy @%;@@
FIES HExI % 7L 9.405
fens | s coomm | mw | ST |
X4y (%) FEX A o
(%) (%)
10 195==x 3.02564 14.228 14.228
9 185==x <195 2.92308 13.746 13.746
8 175=% <185 2.82051 13.263 13.263
7 165 =% <175 2.71795 12.781 12.781
§) 155 =% <165 2.61538 12.299 12.299
5 145 <% <155 2.51282 11.817 11.817
4 135=x% <145 2.41026 11.334 11.334
3 125=x% <135 2.30769 10.852 10.852
2 115=x <125 2.20513 10.370 10.370
1 105 =% <115 2.10256 9.887 9.887
0 95 <x% <105 2.00000 9.405 9.405
-1 85 =x% <95 1.89744 8.923 8.923
-2 TH=x% <85 1.79487 8.440 8.440
-3 65 =% <75 1.69231 7.958 7.958
-4 B =% <65 1.58974 7.476 7.476
-5 45 =% <55 1.48718 6.993 6.993
-6 35=x <45 1.38462 6.511 6.511
-7 25=sx <35 1.28205 6.029 6.029
-8 15=x <25 1.17949 5.547 5.547
-9 5=x <15 1.07692 5.064 5.064
-10 0=sx <5 1.00000 4.703 4.703
N EZSIT
0.50000 2.00000




JERR BRI B AT YRR BOE &

MHE%ERKE 007 (IR EEILH)
BB A T I
HME%E4 R REEIFHS
Hulgk 4 [EENE
Hv il YHE S (O 3 5 U s
SHKS | TRRR| EHIRA Sl b O s
A4 L7l L 27.983 46.796 39.879
Y IR E = (%) D fERBBERIYE [ fE BB
*Ef;j‘* Erg JFBeR | EwEEeR
7 (%) H (%) (%)
11 98.75=% _ <100 1.79557
10 96.25=* _ <98.75 | _4.70008
39 93.75=* _ <96.25 | _4.60160
38 91.25=% <93.75 | 4.50911
37 88.75=* <91.25 | 4.41363
36 86.05=% <88.75 | 4.31814
35 83.75=* _<86.25 | 4.22265
34 8l.05=+* <83.75 | 4.12717
33 78.75=% _<81.25 | 4.03168
32 76.25=% <78.75 | 3.93620
31 73.75=% _<76.25 | 3.84071
30 TL.25=% <73.75 | 3.74522
29 68.75=* <71.25 | 3.64974
28 66.25=* _<68.75 | 3.55425
27 63.75=* _<66.25 | 3.45877
26 61.25=* <63.75 | 3.36328
25 58.75=% <61.25 | 3.26779
24 56.25=% _<58.75 | 3.17231
23 53.75=% _<56.25 | 3.07682 E@fﬁﬁ%ﬂ%i& Eﬁﬁﬁ%u%%
22 51.25=% <b53.75 | 2.98 34| sfh@Ros | Jbp i o
21 18.75=% <51.05 | 2.88585| 0 &R0 [T
20 16.05=* _<48.75 | 2.79036
19 43.75=* _<46.25 | 2.69488
18 A1.05=* <43.75 | _2.59939
17 38.75=% <41.25 | 2.50391
16 36.25=% <38.75 | 2.40842
15 33.75=% _<36.25 | 2.31293
14 31.25=% <33.75 | 2.21745
13 28.75=* _<31.25 | 2.12196
12 26.05=* _ <28.75 | 2.02647
11 23.75=* _ <26.25 | 193099
10 21.05=% _<23.75 | _1.83550
9 18.75=*% <21.25 | 1.74002
8 16.25=* <18.75 | 1.64453
7 13.75=% <16.25 | 1.54904
6 11.25=% <13.75 | 1.45356
5 8.75=% <11.25 | 1.35807
4 6.05=% <875 | 1.26259
3 3.75=% _ <6.25 | 1.16710
2 1.25=% <3.75 | 1.07161
1 0=x <1.25 | 1.00000
r SEYE
0.50000] _2.00000
IR B M HE M B e SR D B 5
fERE IS ok =
S e ey
ke mmwo o O 1
R Lo/ Foneii] Sl SR AAED

DIRIRENG
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E#R

MAEZLEEE 007 (IR EEIL )
AE R4 T ey I
ez T e U S L Ry
Hdd 4 ST
Tk P2 V22 (O ; ——
SHKS | TRRR| EHIRA Sl b O e
L4 RS 7L 28.405 47.032 33.195
B o o PEIHE AR (%) DG o | s | e
ngf i E% JpleR | e
(%) A (%) (%)
11 98.75=+ <100 5.58620
10 96.25=% <98.75 | 5.47082
39 93.75=% <96.25 | 5.35545
38 91.25=% <93.75 | 5.24007
37 88.75=% <91.25 | 5.12470
36 86.25=% <83.75 | 5.00932
35 83.75=% <86.25 | 4.89394
34 81.25=% <83.75 | 4.77857
33 78.75=% <81.25 | 4.66319
32 76.05=% <78.75 | 4.54782
31 73.75=% <76.25 | 4.43244
30 T1.05=% <73.75 | 4.31706
29 63.75=% <7125 | 4.20169
28 66.25=% <63.75 | 4.08631
27 63.75=% <66.25 | 3.97093
26 61.25=% <63.75 | 3.85556
25 58.75=% <61.25 | 3.74018
24 56.05=% <58.75 | 3.62481
23 53.75=% <56.25 | 3.50943 E@ﬁg@%ﬁ Eﬁﬁgﬁ@;@%ﬁ
22 51.05=% <53.75 | 3.39405 | SHHEHOMN | dbphdRemR
21 48.75=% <5105 | 3.07868| L 08BV |ET 2
20 16.25=% <48.75 | 3.16330
19 43.75=% <46.25 | 3.04793
13 41.25=% <43.75 | 2.93255
17 38.75=% <41.25 | 2.81717
16 36.05=% <238.75 | 2.70180
15 33.75=% <36.25 | 2.53642
14 31.05=% <33.75 | 2.47105
13 28.75=% <31.25 | 2.35567
12 26.25=% <28.75 | 2.24029
11 23.75=% <26.25 | 2.12492
10 21.25=% <23.75 | 2.00954
9 18.75=% <21.25 | 1.89416
8 16.25=% <18.75 | 1.77879
7 13.75=% <16.25 | 1.66341
6 11.25=% <13.75 | 1.54804
5 8.75=% <11.25 | 1.43266
4 6.05=% <875 | 131728
3 3.75=%  <6.25 | 1.20191
2 1.25=%  <3.75 | 1.08653
1 0=+ <1.25 | 1.00000
r P fE
0.50000] 2.00000
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fa R B L

I R R A R

E#R

MAEZLEEE 007 (IR EEIL )
AE R4 i ey I
ez T e U S L Ry
Hdd 4 ST
TR A B VE 72 (O ; ——
SHKS | TRRR| EHIRA Sl b O e
NS A 72l 29.025 30.478 23.997
B PEIHE AR (%) DG o | s | e
*Eg:;;‘ {E% i freeryN
(%) 3 (%) (%)
1 98.75=+ <100 | 11.06421
10 96.25=+ <98.75 | 10.81102
39 93.75=+ <96.25 | 10.55783
38 9125=+ <93.75 | 10.30465
37 88.75=+ <91.25 | 10.05146
36 86.25=+ <88.75 | 9.79827
35 83.75=% <86.95 | 9.54508
34 81.25=+ <83.75 | 9.29190
33 78.75=% <81.05 | 9.03871
32 76.25=% <78.75 | 8.78552
31 73.75=% <7695 | 8.53233
30 T1.25=% <73.75 | 8.27915
29 68.75=* <71.25 | 8.02596
28 66.25=+ <68.75 | 7.77277
27 63.75=% <6625 | 7.51958
26 61.25=% <63.75 | 7.26639
25 58.75=% <61.05 | 7.01321
24 56.25=% <53.75 | 6.76002
23 53.75=% <56.05 | 6.50683 E@fﬁgﬂ%& E%ﬁg@f@ﬁ
22 51.25=% <53.75 | 6.05364| S GFOGR e bE LR
21 18.75=% <5195 | 6.00046| L 5B |ET 2
20 46.05=+ <48.75 | 5.74727
19 43.75=% <46.95 | 5.49408
8 A125=+ <43.75 | 5.24089
17 38.75=% <41.05 | 4.08771
16 36.25=% <38.75 | 4.73452
5 33.75=% <3605 | 4.48133
14 31.25=% <33.75 | 4.00814
3 28.75=+ <31.95 | 3.97496
2 26.25=% <98.75 | 3.72177
11 23.75=% <26.95 | 3.46858
10 21 25=+ <93.75 | 3.21539
9 18.75=% <21.25 | 2.96220
8 16.05=% <18.75 | 2.70902
7 13.75=% <16.25 | 2.45583
6 11.05=% <13.75 | 2.20264
5 8.75=+ <11.05 | 1.94945
4 6.05=+  <8.75 | 1.69627
3 3.75=% <605 | 1.44308
2 1.05=% <375 | 1.18989
1 0=+ <125 | 1.00000
r S {E
0.50000] _2.00000
ST B S L AR 0D B 5
TETR BRI L P o =
i RS
B plalog , DfEwEE !
[ Y 0 Ik % " 5 %
i N ) S
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JERR BRI B AT YRR BOE &

MAEZLEEE 007 (IR EEIL )
AE R4 T ey I
ez T e U S L Ry
Hdd 4 ST
TE % P 2 FlE VEE 22 (O > ———
SHKS | TRRR| EHIRA Sl b O e
NS 45 72l 19.069 45.375 46.654
B PEIHE AR (%) DG o | s | e
*Eg:;;‘ {E% i freeryN
(%) A (%) (%)
41 98.75=% <100 1.48647
10 96.05=% <98.75 | 4.39876
39 93.75=% <96.25 | 4.31105
38 91.05=% <93.75 | 4.22334
37 88.75=% <91.25 | 4.13563
36 86.05=% <88.75 | 4.04792
35 83.75=% <86.25 | 3.96021
34 S1.05=% <83.75 | 3.87250
33 78.75=% <81.25 | 3.78479
32 76.05=% <78.75 | 3.69708
31 73.75=% <76.25 | 3.60937
30 7T1.05=% <73.75 | 3.52166
29 68.75=% <71.25 | 3.43395
23 66.05=% <68.75 | 3.34624
27 63.75=% <66.25 | 3.25853
26 61.05=% <63.75 | 3.17082
25 58.75=% <61.25 | 3.08311
24 56.05=% <58.75 | 2.99540
23 53.75=% <56.25 | 2.90769 E@ﬁg@g%ﬁﬁ E%ﬁ%’@%ﬁ
22 51.25=% <53.75 2.81998 |7 UTBHE= D5 SRR ol
21 18.75=# <5105 | 2.73007| LR 0EBY.  |ET 2
20 16.05=% <48.75 | 2.64456
19 13.75=% <46.25 | 2.55685
18 A1.05=% <43.75 | 2.46914
17 38.75=% <41.25 | 2.38143
16 36.05=% <38.75 | 2.29372
15 33.75=% <36.25 | 2.20601
14 31.05=% <33.75 | 2.11830
13 28.75=% <31.25 | 2.03059
12 26.05=% <28.75 | 1.94288
11 23.75=% <26.25 | 1.85517
10 21.05=% <23.75 | 1.76746
9 18.75=% <21.25 | 1.67975
8 16.205=% <18.75 | 1.59204
7 13.75=% <16.25 | 1.50433
6 11.25=% <13.75 | 1.41662
5 8.75=% <11.25 | 1.32891
1 6.205=%  <8.75 1.24120
3 3.75=%  <6.25 1.15349
2 1.05=%  <3.75 1.06578
1 0=x <1.25 1.00000
r S {E
0.50000] 2.00000
fo R BB B S S e R D TR
fo R BB RS S R =
S BHREHLS)
B plalog , DfEwEE !
[ Y 0 Ik % " 5 %
i N ) S
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JERBRBE AL B AR R

E#R

MAEZLEEE 007 (IR EEIL )
AE R4 T ey I
ez T e U S L Ry
Hdd 4 ST
Tk P2 V22 (O ; ——
SHKS | TRRR| EHIRA Sl b O e
— iz FEXT S 7oL 3.646 5.746 76.879
B o o PEIHE AR (%) DG o | famBmELE | e
*/S;;‘* {E% JpleR | e
(%) H (%) (%)
11 98.75=% <100 | 21.89051
10 96.25=+ <98.75 | 21.36496
39 93.75=% <96.25 | 20.83942
38 91.25=% <93.75 | 20.31387
37 88.75=+ <91.25 | 19.78832
36 86.25=% <88.75 | 19.26277
35 83.75=% <86.25 | 18.73723
34 81.25=% <83.75 | 18.21168
33 78.75=% <81.25 | 17.63613
32 76.25=% <78.75 | 17.16058
31 73.75=% <76.25 | 16.63504
30 7T1.25=% <73.75 | 16.10949
29 63.75=% <71.25 | 15.58394
28 66.25=% <68.75 | 15.05839
27 63.75=% <66.25 | 14.53285
26 61.25=% <63.75 | 14.00730
25 58.75=% <61.25 | 13.48175
21 56.25=% <58.75 | 12.95620
23 53.75=% <56.25 | 12.43066 E@fﬁgﬂ%& E%ﬁ%’@f%%
22 51.25=% <53.75 | 11.90511 [ SA#renO5L SLifraprcinl=e
21 48.75=# <5195 | 11.37956| 08B0 |&T %
20 16.25=% <48.75 | 10.85401
19 43.75=% <46.25 | 10.32847
13 41.25=% <43.75 | 9.80292
17 38.75=% <41.25 | 9.27737
16 36.25=% <238.75 | 8.75182
15 33.75=% <36.25 | 8.22628
14 31.05=% <33.75 | 7.70073
13 28.75=% <31.25 | 7.17518
12 26.25=% <28.75 | _6.64963
11 23.75=% <26.25 | 6.12409
10 21.25=% <23.75 | 5.59854
9 18.75=% <21.25 | 5.07299
g 16.25=% <18.75 | 4.54745
7 13.75=% <16.25 | 4.02190
6 11.05=% <13.75 | 3.49635
5 8.75=% <11.25 | 2.97080
1 6.25=%  <8.75 | 2.44526
3 3.75=%  <6.25 | 1.91971
2 1.205=%  <3.75 | 1.39416
1 0=+ <1.25 | 1.00000
r S {E
0.50000] _2.00000
o R B HEME S B R D T
fa R BB G R —
S R
B plalog L w1
IR B o] e Sty ok
DRFHIE i e’




JERR BB IL R AR MER TR T R

MEEEFS 007 S
AE T 4 T e I
i T b e S L AL
Hilik 44 N2
N ¥ S’:E o) 3 A P
FHKS | FRER| EHIRAKS e s
SLARERRES | ERTG: 2L 3.932 5.212 95.880
sgase | TPBRERGO® | o [ amammie | samemm)
N = f v S o
(%) (%) (%)
11 98.75=% <100 3.01266
10 96.25=* _<98.75 | 2.96203
39 93.75=% <96.25 | 2.91139
38 91.25=* <93.75 | 2.86076
37 88.75=% <91.25 | 2.81013
36 86.25=* <88.75 | 2.75950
35 83.75=% <86.25 | _2.70886
34 8L.25=* <83.75 | 2.65823
33 78.05=% _<81.25 | 2.60760
32 76.25=% <78.75 | 2.55696
31 T3.05=% <76.25 | 2.50633
30 TL.25=%* <73.75 | 2.45570
29 68.75=% <71.25 | 2.40506
28 66.25=* <68.75 | 2.35443
27 63.75=% _<66.25 | 2.30380
26 61.25=%* <63.75 | 2.25317
25 58.75=% <61.25 | 2.20253
24 56.25=%* <58.75 | 2.15190
23 53.75=% <5625 | 2.10107|flrEmmILiE |fampmem ki
22 51.25=% <53.75 | _2.05063| S MaEORL (St iherm£
21 18.75=% _<51.25 | _2.00000|EF &Y. X7
20 16.25=% <48.75 | 194937
19 43.75=% _<46.25 | 1.89873
13 41.25=% <43.75 | 1.84810
17 38.75=% <41.25 | L.79747
16 36.25=% <38.75 | 1.74684
15 33.75=% _ <36.25 | _1.69620
14 31.25=% <33.75 | 1.64557
13 28.75=% _<31.25 | 1.59494
12 26.25=% _<28.75 | 1.54430
11 23.75=% _ <26.25 | 1.49367
10 21.25=% <23.75 | 1.44304
9 18.75=% <21.25 | 1.39241
8 16.25=% <18.75 | 1.34177
7 13.75=* _<16.25 | 1.29114
6 11.25=% <13.75 | 1.24051
5 8.75=% <11.25 | 1.18987
4 6.05=% _ <8.75 | 1.13924
3 3.75=% _ <6.25 | 1.08861
2 1.25=%  <3.75 | 1.03797
1 0=+ <1.25 |__1.00000
r ERE
0.50000]_2.00000
fe MR BRI LY L e R OB R
e R B M HEYE S 5
S HREHXS
wEse o mwe o O o 1
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MAEZLEEE 007 (IR EEIL )
AE R4 T ey I
ez T e U S L Ry
Hdd 4 ST
EiY T Ve (O > ———
SHKS | TRRR| EHIRA Sl b O e
AR FEx S 7L 3.946 5.230 95.867
B PEIHE AR (%) DG o | s | e
E§Zf i E% i freeryN
(%) A (%) (%)
41 98.75=% <100 3.01266
10 96.05=% <98.75 | 2.96203
39 93.75=% <96.25 | 2.91139
38 91.05=% <93.75 | 2.86076
37 88.75=% <91.25 | 2.81013
36 86.05=% <88.75 | 2.75950
35 83.75=% <86.25 | 2.70886
34 S1.05=% <83.75 | 2.65823
33 78.75=% <81.25 | 2.60760
32 76.05=% <78.75 | 2.55696
31 73.75=% <76.25 | 2.50633
30 7T1.05=% <73.75 | 2.45570
29 68.75=% <71.25 | 2.40506
23 66.05=% <68.75 | 2.35443
27 63.75=% <66.25 | 2.30380
26 61.05=% <63.75 | 2.25317
25 58.75=% <61.25 | 2.20253
24 56.05=% <58.75 | 2.15190
23 53.75=% <56.25 2JOM7E§§§@%§ E%ﬁg@fﬁi
22 51.25=% <53.75 2.05063 |7 UTBHE D5 ST H R ol
21 18.75=% <5105 | 2.00000| ERPEBY. |57 2
20 16.05=% <48.75 | 1.94937
19 13.75=% <46.25 | 1.89873
18 I1.05=% <43.75 | 1.84810
17 38.75=% <41.25 | 1.79747
16 36.05=% <38.75 | 1.74684
15 33.75=% <36.25 | 1.69620
14 31.05=% <233.75 | 1.64557
13 28.75=% <31.25 | 1.59494
12 26.05=% <28.75 | 1.54430
11 23.75=% <26.25 | 1.49367
10 21.05=% <23.75 | 1.44304
9 18.75=% <21.25 | 1.39241
8 16.205=% <18.75 | 1.34177
7 13.75=% <16.25 | 1.29114
6 11.25=% <13.75 | 1.24051
5 8.75=% <11.25 | 1.18987
1 6.205=%  <8.75 1.13924
3 3.75=%  <6.25 1.08861
2 1.05=%  <3.75 1.03797
1 0=x <1.25 1.00000
r P fE
0.50000] 2.00000
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JE BR B L AT R B R E R

MASEES 007 RIREEILE)
BT, TAE
ADBE, EE B
L7, T 205
=¥ A il YAE 352 (O, - e g s 53
SHKS | FRER| EHIRAKS - e
HIIES FExTG 7L 10.270 13.098 99.315
g | THHEREOM | e | b | famemm)
N e SR ey o
(%) H (%) (%)
41 98.75=% <100 3.01266
40 96.25=% <98.75 | 2.96203
39 93.75=% <96.25 | 2.91139
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